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  5 circles in a circle

radius =   0.570922096619
ratio  =   1.751552455093

density  = 0.744257158931
contacts = 8
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  6 circles in a circle

radius =   0.552462703779
ratio  =   1.810076939420

density  = 0.747776845713
contacts = 12
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  7 circles in a circle

radius =   0.543855392719
ratio  =   1.838724067808

density  = 0.766911884377
contacts = 12
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  8 circles in a circle

radius =   0.538097011595
ratio  =   1.858400954572

density  = 0.786951170529
contacts = 14
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  9 circles in a circle

radius =   0.532251017146
ratio  =   1.878812755234

density  = 0.801421656551
contacts = 14
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N = 10
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 10 circles in a circle

radius =   0.522620172967
ratio  =   1.913435515362

density  = 0.799994503716
contacts = 18
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 11 circles in a circle

radius =   0.518352866238
ratio  =   1.929187750532

density  = 0.811409919523
contacts = 20
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N = 12
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 12 circles in a circle

radius =   0.512866950316
ratio  =   1.949823437410

density  = 0.816245289797
contacts = 18
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N = 13
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 13 circles in a circle

radius =   0.508844527279
ratio  =   1.965236818693

density  = 0.823408986604
contacts = 22
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N = 14
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 14 circles in a circle

radius =   0.504987063495
ratio  =   1.980248747519

density  = 0.829187198386
contacts = 16
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N = 15
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 15 circles in a circle

radius =   0.501829350260
ratio  =   1.992709273545

density  = 0.835638555906
contacts = 18
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N = 16
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 16 circles in a circle

radius =   0.498856178168
ratio  =   2.004585777952

density  = 0.841319719782
contacts = 22
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